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SN SXSAD
g EXN=A
el ENRX B (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SNSa 9,961,964 9,344,276 617,688
= 1,360,800
Al 8,601,164
SEX=A 3,039,382 3,713,565 674,183
== 804,300
Al 2,235,082
X=X Zet 155,982 195,525 A\39,543
SX1Y N2 NAHH Aot 55,982 42,012 13,970
201 Ler23 | 43,902 29,932 13,970
01 At2t2ltl 21,902 17,932 3,970
Ot~ 16,822
OAIRESE 78 4,802,000& 4,802
OJIgRX 2= MH 3,680,000& 3,680
oS & MH 1,840,000 1,840
OJIHEBANAE 28 =2
3,500,000& «1CH*13] 3,500
O3 SFEIR2HA SE2=8 M
5,0002x400H 2,000
O=3=+4 2,080
OENRXAEE 4 L dA=E
130,000 4 & *43] 2,080
O=gH| 4,000,000 4,000
03 A= SHI 22,000 12,000 10,000
OHEH SR AL JHZ 22,000
O3 SFEA2EX SN x|
2,000,000 *32] 6,000
O SFR2EX| 2&s PARY
4,000,000 2] 8,000
O+l SFR2HA S=2EEZM HH
2,000,000& %12 2,000
O&NRXl &3 N HA
2,000,000 *32] 6,000
202 04l 10,080 10,080
01 2LHoIH 10,080 10,080
OJ1g=A g2 A 10,080
OUIHE I RAES =N
4,535,000 4,535
OJIg=Xl == e 2AHI|2 BRE2
,245,000& 2,245
ONLENFIEES &2 2 HRFA
1,700,000 1,700
o8 FANRA ¢Es 4
1,600,000& 1,600
301 Eet2 NS 2,000 2,000

11 EAAHIXIES 2,000 2,000
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BH: XS
=Rl SR Zat EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF2E SXSx B N
10,000& »2002 2,000
Zletd SMIO|ESH e 100,000 100,000
308 AXIHSOIA 100,000 100,000
1 SISt AS A 100,000 100,000
0FE @IEE K
50,000,000 50,000
Oz MIEAH HL(RIEFRH)
50,000,000 50,000
XS AR =M 2,883,400 3,518,040 634,640
= 804,300
Al 2,079,100
ANSY &= 17,900 19,040 1,140
201 et=2 3| 10,400 12,540 N2,140
01 AtR2t2|HI 10,400 12,540 22,140
O+ 8,600
O===71g - ASJIY |X 822 M=K
WE M8t ) 5,000,000& 5,000
O8MJIg +=EXE 2= 28 == A
ZHPTHIZ, 22H3tE S) 2,500,000& 2,500
O2LI=ZQERA & HIOIN &2 S8
1,100,000& 1,100
O=¢&H| 1,800
OANSY HR=H 1,800,000& 1,800
202 04l 2,500 1,500 1,000
01 =LHAHI 2,500 1,500 1,000
OANSY ZRFH 2,500
=218 - ASIIE =i g4
1,500,000& 1,500
O==J1d XY gRFA
1,000,000 1,000
301 EtE NS 5,000 5,000
09 2ABI=ENHI 5,000 5,000
O=U2D01E SN (AHER) £4H3)
5,000,000& 5,000
SHRAAIE B2 X 184,200 160,000 24,200
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OSZZAE M= E20BIE XE At
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O AAE WA At 60,000,000 60,000
O3 +=E=FHl NE A
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Odli2l A2l HEFIH X At
24,200,000 24,200
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DDI)K'”I"%—?—C—)\:'MQ\:' HESE SN (BEEXE)(E 2,681,300 3,339,000 657,700
ES
= 804,300
Al 1,877,000
308 AXIHS0IA 2,681,300 3,339,000 AB57,700
= 804,300
Al 1,877,000
12 JIEtREgs 2,681,300 3,339,000 AB57,700
OLMNRLAN S HEDH B35 Al
2,681,300,000& 2,681,300
[ 804,300
Al 1,877,000
o - s3HI =4 € 29 5,570,186 4,615,065 955,121
s 556,500
Al 5,013,686
SHEYst 5,215,800 3,967,747 1,248,063
[ 566,500
Al 4,659,300
gsd & X& 150,600 149,800 800
201 el 141,200 134,200 7,000
01 At22t2lt] 120,200 119,200 1,000
O +=ZH| 8,360
OZdZeH &Y ¢ 920,000 920
O84J1g Nt & SZEE MR
o144 1,840,000& 1,840
OJIXE AR ARES 7
2,760,000 2,760
OJIgXd =4 & N
1,840,000 1,840
O=JIAY &= = (PPT) MIZ
1,000,000& 1,000
o=l 1,840
[EAE 2= 1,840,000& 1,840
Ogx= 110,000
o=U =01y 22X £&2HA 23
110,000,000 110,000
03 A2 I 21,000 15,000 6,000
OZ N AHud Z AOILE
18,000,000& *13] 18,000
OXSSaEtIN AIE 88 2E3l
3,000,000& %12 3,000
202 04| 5,400 4,000 1,400
01 2L AL 5,400 4,000 1,400
OSHEHs HRFA 2,500,000& 2,500
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g9: Seadst (EH9): ®2)
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Ol 2g3 S PRI
1,500,000 1,500
O=0} Ot 8t B 9o EX
1,400,000& 1,400
301 22N = 4,000 1,600 2,400
11 AALREIXIES 4,000 1,600 2,400
OZ M Atded = NoIL
20,0002 100 »23] 4,000
gdss & N (EX) 421,700 323,000 98,700
= 126,500
Al 295,200
402 2IZtA=01d 421,700 323,000 98,700
S 126,500
Al 295,200
02 RIENZASEZ(0IETHR) 421,700 323,000 98,700
OSAJ1g e At
421,700,000& 421,700
[ 126,500
Al 295,200
2Dl N (= HERH) 205,000 205,000
308 AHXIEMSOIE 150,000 150,000
11 SIS0t oA AS A 150,000 150,000
Ol SIH Il D=5 XA
150,000,000%J 150,000
403 AXIEHHSAH=Z01d 55,000 55,000
02 SVI2S0 U H=E P EAIEI 55,000 55,000
Oy Jdeletd AAE 25X
55,000,000 55,000
ARAET] DAL SRKI S (HEA)(EX) 360,000 350,000 0
= 200,000
Al 150,000
307 elztol & 350,000 350,000 0
= 200,000
Al 150,000
02 SRIZAAR B 350,000 350,000 0
OLHRIEHT] JIZAl 212 KB Ale!
350,000,000 350,000
== 200,000
Al 150,000
JI=Ab SXAEH 50,000 50,000 0
307 elztol & 50,000 50,000
02 LB HAHE L 50,000 50,000
OSA01Y JIssAH SX KE AHY
50,000,000& 50,000
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s3HX 243 X (EX) 560,000 512,227 47,773
= 224,000
Al 336,000
301 EtE N = 560,000 512,227 47,773
= 224,000
Al 336,000
14 0Bt 243 560,000 512,227 47,773
s3HEA 2dset X3 At
560,000,000 560,000
== 224,000
Al 336,000
USite SdX8(E 2AEXH) 1,000,000 1,000,000
308 XXM SOIH 1,000,000 1,000,000
11 SIS0t oA AS A 1,000,000 1,000,000
ONSKt SEHUS 22 NE A
500,000,000 500,000
Ofl2t Adged SRS Jlsie X
500,000,000 500,000
=W SE&a Bt A3A 10,000 0 10,000
307 212+01& 10,000 0 10,000
02 2B HAHE L 10,000 0 10,000
O=U =&zl HIF N2 A
10,000,000& 10,000
S oA A2ly gal 8 J|=88 JIBtR=(=0t 1,649,000 0 1,649,000
XIX—IX'.O‘:])
308 AHAIEMSOIE 280,000 0 280,000
11 S| 2SO0 SHASAIE 280,000 0 280,000
OSSR AGHUEH 75 Jls & 45 J1Y
A& 280,000,000 280,000
403 AXIEHHSA=201H 1,369,000 0 1,369,000
02 SI12S0ItH et =& 2 €A I 1,369,000 0 1,369,000
O AR &8 J|=8 Al J[eRs
1,369,000,000& 1,369,000
SYTNEHIIY s W= 50,000 0 50,000
308 AXIHMSOIA 50,000 0 50,000
1 SISt AS A 50,000 0 50,000
OSEXMAIIY o1& W
50,000,000& 50,000
ST BAXFLE A (20t AEFXA) 275,000 0 275,000
308 AXIHMSO0IA 275,000 0 275,000
12 JIEtRE=2 275,000 0 275,000
OSEX SARZHE A
275,000,000 275,000
XNs8 s 488X *&(20t AFEX) 474,500 0 474,500
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02 SISt 2 S A AIEHI 474,500 0 474,500
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474,500,000 474,500
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=S 6,000
Al 14,000
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< 6,000
Al 14,000
02 2B HAHE L 20,000 0 20,000
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20,000,000 20,000
= 6,000
Al 14,000
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101 212A4H| 50,900 53,900 A3,000
04 JIZtN2Z2 XS 50,900 53,900 A3,000
OLHEX HEI2Y 50,900
O0l=J| & 27,000,000& 27,000
OJtZstet =& = &el 15,000,000 15,000
OM=M &x 6,476,000& 6,476
OtEE= 2,424,000 2,424
201 et 3| 114,948 115,950 1,002
01 At2t2l] 11,850 12,852 21,002
O et=ZH 3,600
ottt AR AIRES 7
3,600,000& 3,600
O=¢gl 1,760
odtttate| gexa 1,760,000& 1,760
o2xz 6,490
O4d(s3)HA 2=+ ZHIAUNE,
g2=57, 0I28) 6,490,000 6,490
02 S3=4gl 103,098 103,098 0
OS2 ZHAl 76,200
OMHEX JIZ2 S, 20 JIIes
6,000,000& ~12& 72,000
OugHXl t2s SRS
300,000& * 122 3,600
Oodote= 2= 50,0002 x27H+63 600
OAl 2 EHI=XH 21,378,000 21,378
OXtE & 5,520,000 5,520
202 04| 2,268 2,268 0
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HH: MR- S2OX ZH U 29
CHol: AR

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3S 2ZHIRLHA 12,000
OU=EHSsEdH &8s
1,000,0002 122 12,000
OAlE2EH|=XH 200,000& * 128 2,400
03 A2 I 3,600 8,000 24,400
OR0PIt= W] Z27)
300,000& x 124+ 12& 3,600
Hees(Ensau) 1,330,796 995,846 334,950
HEAHHXKE(FNHSE D) 1,330,796 995,846 334,950
HEHAHR S (SRS L) 1,330,79%6 995,846 334,950
701 JIEtI HSHES 830,796 595,846 234,950
01 JIEII AN ES 830,796 595,846 234,950
OsZUREA=Ls)
830,796,000 830,796
(VRIS TSE= 500,000 400,000 100,000
0 JIsdEsS 500,000 400,000 100,000
OsLIIEsd)|l=s A=
500,000,000& 500,000
HY2HHH(SNSAD) 21,600 19,800 1,800
=ZH(EXSA) 21,600 19,800 1,800
JlE2ZHI(EXRSa) 21,600 19,800 1,800
202 04l 18,000 16,800 1,200
01 SLHoIH 18,000 16,800 1,200
OSEEZ0HLI 100,000 x 15 « 122 18,000
203 HR=AH] 3,600 3,000 600
MU A2 LRFEI 3,600 3,000 600
OF =X 300,000 x 122 3,600




